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1. MELELK:

SENEPR S CE - e

2. MEWE NERLG REMERESL.

AYIRZE: +0.05nl

3. WEHUE:
M EAT IR 1 2 2 4 5
B (g 49. 8373 49. 8226 49. 8275 49. 8299 49. 8391
W EATIR 6 7 8 9 10
B () 49. 8263 49. 8256 49. 8289 49. 8264 49,8318

4. X W FEME:
R P AR 7 ek R 1E Syt B

V,, = —m(—p@;&lu + P20 - t)]

pB(pW - pA)
WEARIR 1 2 3 4 5
B (ml) 49, 984 49. 970 49. 974 49.977 49. 986
TEAIR 6 7 8 9 10
HAE (ml) 49. 973 49. 973 49. 976 49. 973 49. 979
LI EEEEEE f Mo _ 49,8295 V= wtooce * Y - 49,977
10 10

5. A %@*Biﬁﬁﬁﬁ%)ﬁﬁ% Ua REL

u, (V) _ SOV 5.2378 x 107

A RE (V) = — = = 3.3142 x 107°
. v Voo x ¥ 10 x 49. 977 §
6.B %*EXU‘XE%EEWE UB REL
6.1 REMEIAFENAHEETE e (n)
tg ) = —2— = %0005 _ 5 769 107

kxf /3 x 49. 8295

6.2 B ARSI NKAN A EE DR ta(0)

6.2. 1 TREEINKIAHER uleo )

0,=0.0012£0. 0001g/cm’, # N2 MHAI1G V,=49. 981m1, V.=49. 973m1, AV=0. 009m1
Mpﬁzzi:(*%9

k V3
6.2. 2 KFEFEFINPIRHEE u(ow)
p,=0.9981£0.0001g/cm’, # NH 2R V,=49. 982m1, V.=49. 972m1, AV=0. 01ml

= 5.1962 x 10 *ml




u(py) = f? = Qi%%L = 5.7888 x 10 °*ml
Jur(p,) + u*(py)
Uy (P) = A 7 Y = 1.5565 x 10°*

6. 3 T 5 NPIFERT ANH 2 FE 4 & ure (t)
6. 3. 1 B REGINPIAHEE u(B)
B=25X10"+2.5X 10", #H AFFIHAI V,=49. 974m], V.=49. 974m1, AV=0ml

ug) =2 -2 _om

k3
6.3. 2 BETTNEREIANPAFHEE ult’ )
EEFREFREN+0.2°C, T t=22.3°C, V,=49.9739ml, V,=49.9744ml, AV=0. 0005m]

alt?y = 2 = 20005 5 sgsa x 207*ni
k NE
2 2 ’
Uy (1) = Ju (B)% 2 ) 5 7736 x 10°°

6.4 B AN AT & E

Uy V) = \/UZREL(HI) + v (p) + u’m (t) = 1.5586 x 10 °*
7. & ATEE uc

u, = \/UZAREL + UZBREL X V = 0. 008 ml
8. ¥ BAWER U, (K=2)
U=u, x K = 0.016 ml
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